THE SURVIVAL OF CONTACT PROCESSES1

BY R. HOLLEY² AND T. M. LIGGETT³

University of Colorado and University of California at Los Angeles

A new proof is given that a contact process on \mathbb{Z}^d has a nontrivial stationary measure if the birth rate is sufficiently large. The proof is elementary and avoids the use of percolation processes, which played a key role in earlier proofs. It yields upper bounds for the critical birth rate which are significantly better than those available earlier. In one dimension, these bounds are no more than twice the actual value, and they are no more than four times the actual critical value in any dimension. A lower bound for the particle density of the largest stationary measure is also obtained.

1. Introduction. A contact process on Z^d is a particular type of continuous time Markov process whose state space is the set of all subsets of Z^d . In a contact process, each element in the set which is the state of the process at a given time is removed at a uniform rate independently of everything else, and each point not in the set is added to it at a rate which is an increasing function of the number of its neighbors which are in the set. Moreover, the rate at which an element of Z^d is added to the set is zero if none of its neighbors is already in it. This guarantees that the empty set is absorbing for the process, and one of the basic problems concerning a contact process is to determine when the point-mass on the empty set is the only stationary measure for it.

It is the purpose of this paper to give a new proof of a theorem due to Harris ([1] and [3]) to the effect that certain contact processes have more than that one stationary measure. This proof is more elementary than previous proofs in that it does not require results concerning percolation processes, and in that it is purely distributional in character. It also gives specific upper bounds for the critical values which are several orders of magnitude better than those which apparently can be deduced from the earlier proofs. The primary reason for the improvement in these bounds is that our technique treats the continuous time process directly, instead of comparing it to a discrete time process as was done earlier.

In order to be more specific, we begin by describing the contact processes with which we will be concerned. Let E_d be the set of all subsets of Z^d . Arbitrary elements of E_d will be denoted by lower case Greek letters, and finite

www.jstor.org

Received February 22, 1977.

¹ Both authors are Alfred P. Sloan Foundation Fellows.

² Research supported in part by NSF Grant No. MPS-74-18926.

³ Research supported in part by NSF Grant No. MCS-72-04591.

AMS 1970 subject classification. Primary 60K35.

Key words and phrases. Contact processes, infinite particle systems, critical phenomena, birth and death processes.

elements of E_d will be denoted by capital Roman letters. For $x \in Z^d$, $\eta \in E_d$, and $\alpha > 0$, define $c_x{}^\alpha(\eta)$ to be one if $x \in \eta$ and to be α times the cardinality of $\eta \cap \{y : |y - x| = 1\}$ if $x \notin \eta$. If f is a cylinder function on E_d (i.e., $f(\eta)$ depends only on $\eta \cap A$ for some fixed finite set $A \subset Z^d$), put

(1.1)
$$\mathcal{L}^{(d,\alpha)} f(\eta) = \sum_{x \in Z^d} c_x^{\alpha}(\eta) [f(\eta \triangle \{x\}) - f(\eta)]$$

$$= \sum_{x \in \eta} [f(\eta \setminus \{x\}) - f(\eta)]$$

$$+ \alpha \sum_{x \in \eta} \sum_{|y-x|=1} [f(\eta \cup \{y\}) - f(\eta)].$$

The d-dimensional linear contact process is defined to be the Markov process on E_d whose infinitesimal generator, when restricted to the cylinder functions, is given by (1.1). Processes of this general type have been studied extensively (see for example, [6] for a review and list of references). In particular, it is known that there is a unique such process.

Our main result is the following.

(1.2) THEOREM. If $\alpha \ge 2/d$, then the d-dimensional linear contact process with parameter α has a stationary measure m which is invariant under translations in Z^d for which

$$m\{\eta:\,\eta\ni 0\}\geqq \frac{1}{2}+\left(\frac{1}{4}-\frac{1}{2d\alpha}\right)^{\frac{1}{2}}.$$

In particular, m is not concentrated on the empty set.

Harris has proved (see Theorem 7.7 in [1]) that if $\alpha < 1/(2d-1)$, then the d-dimensional linear contact process with parameter α has only the trivial stationary measure. Moreover, by standard monotonicity arguments (see [1]), it can be shown that there is a number α_d such that if $\alpha < \alpha_d$, then there is only one stationary measure, while if $\alpha > \alpha_d$, there is more than one stationary measure. Thus combining our Theorem 1.2 with Harris' Theorem 7.7 in [1] yields $1/(2d-1) \le \alpha_d \le 2/d$.

Since a linear contact process is self-associate (see Section 7 of [2]), it also follows from Theorem 1.2 that if $\alpha \ge 2/d$, then

$$P_{\{0\}}^{(d,\alpha)}(A(t)=\varnothing \text{ for some } t) \leq \frac{1}{2} - \left(\frac{1}{4} - \frac{1}{2d\alpha}\right)^{\frac{1}{2}},$$

where $P_{\eta}^{(d,\alpha)}$ denotes the probability measure corresponding to the Markov process with generator $\mathscr{L}^{(d,\alpha)}$ and initial state η .

Theorem 1.2 is proved first in case d=1, from which the general case is deduced in Section 3. In Section 2, we prove a somewhat more general result in case d=1. In order to state that theorem, let $\beta>0$ and $0 \le p \le 1$, and define $d_x^{(\beta,p)}(\eta)$ to be one if $x \in \eta$ and to be $\beta(pI_{\eta}(x-1)+(1-p)I_{\eta}(x+1))$ if $x \notin \eta$, where I_{η} is the indicator function of η .

(1.3) Theorem. If $\beta \ge 4$, then the contact process on E_1 with generator $\Omega^{(\beta,p)}$ given by

$$\Omega^{(\beta,p)}f(\eta) = \sum_{x \in Z} d_x^{(\beta,p)}(\eta) [f(\eta \triangle \{x\}) - f(\eta)]$$

for cylinder functions f, has a translation invariant stationary measure m with $m\{\eta: \eta \ni 0\} \ge \frac{1}{2} + (\frac{1}{4} - (1/\beta))^{\frac{1}{2}}$.

Since $\Omega^{(2\alpha,\frac{1}{2})}=\mathscr{L}^{(1,\alpha)}$, Theorem 1.2 in one dimension is a particular case of Theorem 1.3. Also, since the contact process with generator $\Omega^{(\beta,p)}$ has the contact process with generator $\Omega^{(\beta,1-p)}$ as an associate, as will as seen in Section 2, it follows from Theorem 1.3 that if $\beta \geq 4$, then the contact process with generator $\Omega^{(\beta,p)}$ and probability measure $Q_A^{(\beta,p)}$ satisfies

$$Q_{\{0\}}^{(\beta,p)}(A(t)=\emptyset \text{ for some } t) \leq \frac{1}{2} - \left(\frac{1}{4} - \frac{1}{\beta}\right)^{\frac{1}{2}}.$$

The totally asymmetric case obtained by taking p = 0 or 1 in Theorem 1.3 is quite interesting in its own right, and plays an important role in the results of [3], for example.

2. Proof of Theorem 1.3. If A is a finite subset of Z and $\eta \in E \equiv E_1$, let

$$\chi_A(\eta) = \chi_{\eta}(A) = 1$$
 if $\eta \cap A = \emptyset$
= 0 if $\eta \cap A \neq \emptyset$.

Fix $\beta > 0$ and $p \in [0, 1]$, and let T_t be the semigroup on $C\{0, 1\}^Z$ which corresponds to the contact process with generator $\Omega^{(\beta, p)}$ given in Theorem 1.3. The idea of the proof is to find a nontrivial translation invariant measure μ on E with the property that for all finite $A \subset Z$,

$$\int T_t \chi_A(\eta) \mu(d\eta) = \int \chi_A(\eta) (T_t * \mu) (d\eta)$$

is a nonincreasing function of t. E is endowed with a compact metric topology via the obvious identification with $\{0, 1\}^Z$ with the product topology. Since $\{\chi_A : A \subset Z, A \text{ finite}\}$ is a convergence determining class for the topology of weak convergence of measures on E, and since $\{T_t : t \ge 0\}$ is a Feller semigroup (see [6]), it would then follow that $T_t * \mu$ converges weakly to a measure m which is stationary for the semigroup. Moreover, since each $T_t * \mu$ is translation invariant, the same is true of m. Finally, the monotonicity of the convergence would give

(2.1)
$$m\{\eta : \eta \ni 0\} = \lim_{t \to \infty} \{1 - \int_{\{0\}} \chi_{\{0\}}(\eta) (T_t * \mu) (d\eta)\}$$

$$\geq 1 - \int_{\{0\}} \chi_{\{0\}}(\eta) \mu(d\eta) .$$

Since χ_A is a cylinder function, and hence in the domain of $\Omega^{(\beta,p)}$, it follows from the Hille-Yosida theorem that

$$\frac{d}{dt} \int T_t \chi_A(\eta) \mu(d\eta) = \int \Omega^{(\beta,p)} T_t \chi_A(\eta) \mu(d\eta) ,$$

and thus it suffices to show that for all $t \ge 0$ and finite $A \subset Z$,

$$(2.2) \qquad \qquad \int \Omega^{(\beta,p)} T_t \chi_A(\eta) \mu(d\eta) \leq 0.$$

Now one easily checks

$$\Omega^{(\beta,p)}\chi_{A}(\eta) = \sum_{x \in \eta} \left[\chi_{A}(\eta \setminus \{x\}) - \chi_{A}(\eta) \right]
+ \beta \sum_{x \in \eta} \left[p(\chi_{A}(\eta \cup \{x+1\}) - \chi_{A}(\eta)) \right]
+ (1-p)(\chi_{A}(\eta \cup \{x-1\}) - \chi_{A}(\eta)) \right]
= \sum_{x \in A} \left[\chi_{A \setminus \{x\}}(\eta) - \chi_{A}(\eta) \right]
+ \beta \sum_{x \in A} \left[p(\chi_{A \cup \{x-1\}}(\eta) - \chi_{A}(\eta)) \right]
+ (1-p)(\chi_{A \cup \{x+1\}}(\eta) - \chi_{A}(\eta)) \right]
= \Omega^{(\beta,1-p)}\chi_{p}(A).$$

This equation shows that the contact process with generator $\Omega^{(\beta,p)}$ is the associate of (or dual to) the contact process with generator $\Omega^{(\beta,1-p)}$. Thus for all $t \ge 0$ and all finite $A \subset Z$,

(2.4)
$$T_t \chi_A(\eta) = \sum_{B \subset Z} Q_A^{(\beta, 1-p)} (A(t) = B) \chi_B(\eta),$$

where the summation is over all finite subsets of Z. For more information on associate processes and a proof of (2.4) see [2], [4], [5], or [6]. All that we need from (2.4) is that $T_t \chi_A$ is a linear combination with positive coefficients of other χ_B 's, so that in order to prove (2.2), it suffices to prove

$$(2.5) \qquad \qquad \int \Omega^{(\beta,p)} \chi_A \, d\mu \leq 0$$

for all finite $A \subset Z$.

It appears to be difficult to compute efficiently the expression on the left side of (2.5) unless μ is particularly simple. It is easy to check that there is no translation invariant product measure on $\{0, 1\}^Z$ with positive particle density which satisfies (2.5) for all finite A. In view of the results in [7], it is natural then to look among the renewal measures for one which will satisfy (2.5). In order to simplify the notation, let $\eta_k = I_{\eta}(k)$ for $\eta \in E$ and $k \in Z$. If $\{f(k): k = 0, 1, 2, \cdots\}$ is a probability density with

$$a^{-1}=1+\sum_{k=0}^{\infty}kf(k)<\infty,$$

then the renewal measure ν_f determined by f is the probability measure on E with

(2.6)
$$\nu_f(A_{k_1,\dots,k_j}^k) = a \prod_{i=1}^j f(k_i - 1),$$

where $A_{k_1,\cdots,k_j}^k=\{\eta\in E\colon \eta_k=\eta_{k+k_1}=\cdots=\eta_{k+k_1+\cdots+k_j}=1 \text{ and } \eta_i=0 \text{ for all other } i\in[k,\,k+k_1+\cdots+k_j]\},\,k\in Z,\,\text{and } k_i\geq 1.$ Note that ν_f is translation invariant and $\nu_f\{\eta\colon\eta\ni0\}=a.$

In order to find a good candidate for a renewal measure which will satisfy (2.5), consider finding a density f such that for all $n \ge 1$,

By (2.3), (2.7) is equivalent to

(2.8)
$$\sum_{k=0}^{n-1} \left[\left[\chi_{\{0,1,\dots,n-1\}\setminus\{k\}} - \chi_{\{0,1,\dots,n-1\}} \right] d\nu_f \right] \\ = \beta \left\{ (1-p) \left[\left[\chi_{\{0,\dots,n-1\}} - \chi_{\{0,\dots,n\}} \right] d\nu_f \right] \right. \\ \left. + p \left[\left[\chi_{\{0,\dots,n-1\}} - \chi_{\{-1,\dots,n-1\}} \right] d\nu_f \right] \right\}.$$

Letting $F(n) = \sum_{k=n}^{\infty} f(k)$, (2.8) becomes

(2.9)
$$\beta F(n) = \sum_{k=0}^{n-1} F(k)F(n-1-k), \quad n \ge 1$$
 and $F(0) = 1$.

To solve this for F, let $\varphi(x) = \sum_{n=0}^{\infty} x^n F(n)$ and conclude from (2.9) that

(2.10)
$$\varphi(x) = [\beta - (\beta^2 - 4\beta x)^{\frac{1}{2}}]/2x.$$

Thus $F(n) = (2n) \mathbb{N}(n! (n+1)!) \beta^{-n}$, which is a decreasing summable sequence for $\beta \ge 4$. In fact, if $\beta \ge 4$, then

$$(2.11) a^{-1} = \sum_{k=0}^{\infty} F(k) = \varphi(1) = [\beta - (\beta^2 - 4\beta)^{\frac{1}{2}}]/2.$$

Now let f(n) = F(n) - F(n+1) for this choice of F, and $\mu = \nu_f$. Then by construction, (2.5) holds with equality for A of the form $\{k, k+1, \dots, k+n\}$, and it remains to prove (2.5) for arbitrary finite A. The first step is contained in the following lemma.

(2.12) Lemma. Let $B(n,0) = \{ \eta : \eta_0 = 1, \, \eta_{n+1} = 0 \}$ and $B(n,j;k_1, \, \cdots, \, k_j) = \{ \eta : \eta_0 = 1, \, \eta_{n+1} = \eta_{n+1+k_1} = \eta_{n+1+k_1+k_2} = \cdots = \eta_{n+1+k_1+\dots + k_j} = 0 \}$ for $j \ge 1$, $k_1 \ge 1, \, \cdots, \, k_j \ge 1$. Then $\mu \{ B(n,j;k_1, \, \cdots, \, k_j) \, | \, \eta_0 = 1 \}$ is a nondecreasing function of n.

PROOF. The proof is in two steps, using induction in each one. The first case is j = 0, and we will prove by induction on n that

(2.13)
$$\mu\{B(n,0) \mid \eta_0 = 1\} = \frac{1}{\beta} \sum_{k=0}^n F(k),$$

which will give the required result. From (2.6) and (2.9),

$$\mu\{B(0,0) | \eta_0 = 1\} = F(1) = \frac{1}{\beta} F(0),$$

so that (2.13) holds for n = 0. Assuming (2.13) for $n \le N - 1$, and using the translation invariance of μ and (2.9) gives

$$\begin{split} \mu\{B(N,0) \,|\, \eta_0 &= 1\} = F(N+1) \,+\, \sum_{k=0}^{N-1} f(k) \mu\{B(N-1-k,0) \,|\, \eta_0 = 1\} \\ &= \frac{1}{\beta} \,\sum_{k=0}^N F(k) F(N-k) \,+\, \sum_{k=0}^{N-1} f(k) \,\frac{1}{\beta} \,\sum_{j=0}^{N-1-k} F(j) \\ &= \frac{1}{\beta} \,\sum_{k=0}^N F(k) [F(N-k) \,+\, \sum_{j=0}^{N-1-k} f(j)] = \frac{1}{\beta} \,\sum_{k=0}^N F(k) \,, \end{split}$$

and therefore (2.13) holds for n = N as well. We now do an induction on j. The lemma has just been proved for j = 0, so assume now that it is true for $j \le J - 1$. Then

$$\begin{split} \mu\{B(n,J;\,k_1,\,\cdots,\,k_J)\,|\,\eta_0 &= 1\} = \mu\{B(n\,+\,k_1,\,J\,-\,1;\,k_2,\,\cdots,\,k_J)\,|\,\eta_0 &= 1\} \\ &-\mu\{\eta_{n+1} = 1\,|\,\eta_0 = 1\}\mu\{B(k_1\,-\,1,\,J\,-\,1;\,k_2,\,\cdots,\,k_J)\,|\,\eta_0 = 1\} \\ &= \mu\{B(n\,+\,k_1,\,J\,-\,1;\,k_2,\,\cdots,\,k_J)\,|\,\eta_0 = 1\} \\ &- \left[1\,-\,\mu\{B(n,\,0)\,|\,\eta_0 = 1\}\right]\mu\{B(k_1\,-\,1,\,J\,-\,1;\,k_2,\,\cdots,\,k_J)\,|\,\eta_0 = 1\}\,, \end{split}$$

which is nondecreasing in n by the inductive hypothesis, thus completing the proof of the lemma.

Now fix a finite subset $A = \bigcup_{i=1}^k A_i$ of Z, where A_1, \dots, A_k are the ordered maximal connected components of A, so that there are integers l_i and r_i such that $A_i = [l_i + 1, r_i - 1]$ and $r_i \le l_{i+1} < r_{i+1} - 1$ for all i. Define

$$\rho(x) = \mu\{\eta : \eta = 0 \text{ on } A \cap (x, \infty) | \eta_x = 1\}$$

and

$$\lambda(x) = \mu\{\eta : \eta = 0 \text{ on } A \cap (-\infty, x) | \eta_x = 1\}$$

for $x \notin A$. By the translation invariance of μ and Lemma 2.12, $\rho(x)$ is a non-increasing function on each connected component of A^c , and since μ is invariant under reflection about the origin, $\lambda(x)$ is a nondecreasing function on each connected component of A^c .

Applying (2.3) to the set A under consideration gives

(2.14)
$$\begin{cases} \Omega^{(\beta,p)} \chi_A d\mu \\ = \mu \{ \eta_0 = 1 \} [\sum_{x \in A} \sum_{y,x \in A^c; y < x < z} \rho(z) \lambda(y) f(x - y - 1) f(z - x - 1) \\ - \beta \sum_{i=1}^k \{ p \rho(l_i) \lambda(l_i) + (1 - p) \rho(r_i) \lambda(r_i) \}]. \end{cases}$$

The monotonicity of ρ gives

(2.15)
$$\sum_{x \in A} \sum_{y,z \in A^{c}; y < x < z} \rho(z) \lambda(y) f(x - y - 1) f(z - x - 1)$$

$$\leq \sum_{i=1}^{k} \sum_{x \in A_{c}} \sum_{j=i}^{k} \rho(r_{j}) F(r_{j} - x - 1) \sum_{y \in A^{c}; y < x} \lambda(y) f(x - y - 1),$$

while the monotonicity of λ gives

(2.16)
$$\sum_{x \in A} \sum_{y,z \in A^c; y < x < z} \rho(z) \lambda(y) f(x - y - 1) f(z - x - 1) \\ \leq \sum_{i=1}^k \sum_{x \in A_i} \sum_{j=1}^i \lambda(l_j) F(x - l_j - 1) \sum_{z \in A^c; z > z} \rho(z) f(z - x - 1).$$

Substituting (2.15) and (2.16) into (2.14) yields

$$[\mu\{\eta_{0} = 1\}]^{-1} \int \Omega^{(\beta,p)} \chi_{A} d\mu$$

$$\leq p\{\sum_{i=1}^{k} \sum_{x \in A_{i}} \sum_{j=1}^{i} \lambda(l_{j}) F(x - l_{j} - 1) \sum_{z \in A^{c}; z > x} \rho(z) f(z - x - 1)$$

$$- \beta \sum_{i=1}^{k} \rho(l_{i}) \lambda(l_{i}) \}$$

$$+ (1 - p)\{\sum_{i=1}^{k} \sum_{x \in A_{i}} \sum_{j=i}^{k} \rho(r_{j}) F(r_{j} - k - 1)$$

$$\times \sum_{y \in A^{c}; y < x} \lambda(y) f(x - y - 1) - \beta \sum_{i=1}^{k} \rho(r_{i}) \lambda(r_{i}) \}.$$

In order to complete the proof of (2.5), it then suffices to show that

$$(2.18) \qquad \beta \rho(l_j) = \sum_{x \in A; x \in A^c; l_j < x < z} F(x-l_j-1) \rho(z) f(z-x-1) \,,$$
 and

$$(2.19) \qquad \beta \lambda(r_j) = \sum_{x \in A; y \in A^c; y < x < r_j} F(r_j - x - 1) \lambda(y) f(x - y - 1).$$

We will prove (2.18) only, since the proof of (2.19) is similar. The proof of (2.18) is based on the identity

(2.20)
$$\rho(x) = \sum_{z \in A^c; z > x} f(z - x - 1) \rho(z) ,$$

which holds for all $x \in A^c$ and is an immediate consequence of definition of $\rho(\cdot)$. It follows from (2.9) that

$$\beta f(n) = \sum_{k=0}^{n-1} F(k) f(n-k-1) - F(n), \qquad n \ge 1.$$

Thus, since $z \in A^c$ and $z < l_j$ imply that $z - l_j - 1 \ge 1$, (2.20) and (2.21) yield

(2.22)
$$\beta \rho(l_j) = \sum_{z \in A^c; z > l_j} \rho(z) \left[\sum_{l_j < x < z} F(x - l_j - 1) f(z - x - 1) - F(z - l_j - 1) \right].$$

Identity (2.20) also gives

(2.23)
$$\sum_{z \in A^{c}; z > l_{j}} \rho(z) F(z - l_{j} - 1) = \sum_{x, z \in A^{c}; l_{j} < x < z} F(x - l_{j} - 1) f(z - x - 1) \rho(z),$$

and (2.22) and (2.23) together imply (2.18). The proof of Theorem 1.3 is now completed by using (2.1) and (2.11).

3. Proof of Theorem 1.2. A computation similar to that in (2.3) shows that the *d*-dimensional linear contact process with parameter α is self-associate, which means that

(3.1)
$$E_{\eta}^{(d,\alpha)}[\chi_{A}(\eta(t))] = E_{A}^{(d,\alpha)}[\chi_{\eta}(A(t))]$$

for all $\eta \in E_d$ and all finite A in E_d . Setting $\eta = Z^d$ and noting that $\chi_{Z^d}(A) = 0$ unless $A = \emptyset$, one sees from (3.1) that

$$E_{Z^d}^{(d,\alpha)}[\chi_A(\eta(t))] = P_A^{(d,\alpha)}\{A(t) = \emptyset\} \to P_A^{(d,\alpha)}\{A(t) = \emptyset \text{ for some } t\}.$$

Thus there is a translation invariant stationary measure m such that

In order to prove Theorem (1.2), it therefore suffices to show that if $\alpha \ge 2/d$, then

(3.3)
$$P_{(0)}^{(d,\alpha)}\{A(t)=\emptyset \text{ for some } t\} \leq \frac{1}{2} - \left(\frac{1}{4} - \frac{1}{2d\alpha}\right)^{\frac{1}{2}}.$$

First set d=1 and $\alpha \ge 2$ and let m be the stationary measure obtained in Theorem 1.3 (take $\beta=2\alpha \ge 4$ and $p=\frac{1}{2}$ in that theorem). Integrating both sides of (2.4) with respect to m gives

$$\int \chi_A dm = \int T_t \chi_A dm = \sum_B P_A^{(1,\alpha)} \{ A(t) = B \} \int \chi_B dm \ge P_A^{(1,\alpha)} \{ A(t) = \emptyset \}.$$

Setting $A = \{0\}$, it then follows from Theorem 1.3 that if $\alpha \ge 2$, then

(3.4)
$$P_{\{0\}}^{(1,\alpha)}\{A(t)=\emptyset \text{ for some } t\} \leq \frac{1}{2} - \left(\frac{1}{4} - \frac{1}{2\alpha}\right)^{\frac{1}{2}}.$$

We will prove (3.3) by showing that

$$(3.5) P_{\{0\}}^{(d,\alpha)}\{A(t)=\varnothing \text{ for some } t\} \leq P_{\{0\}}^{(1,d\alpha)}\{A(t)=\varnothing \text{ for some } t\}.$$

Define $\pi_d: Z^d \to Z$ by

$$\pi_d(x_1, \cdots, x_d) = x_1 + \cdots + x_d,$$

and let $\pi_d(\xi) = \{\pi_d(x) : x \in \xi\} \in E_1 \text{ for } \xi \in E_d.$

The quickest way to see that (3.5) is true is via a coupling argument. The idea is to couple $A_1(t)$ and $A_d(t)$ together in such a way that $A_1(t)$ and $A_d(t)$ are separately Markovian with laws $P_{0}^{(1,d\alpha)}$ and $P_{0}^{(d,\alpha)}$ respectively, and so that $A_1(t) \subset \pi_d(A_d(t))$ with probability one for each t. While this makes (3.5) clear, the coupling is somewhat difficult to write out formally, so we will give an analytic proof instead. Let $F_d = \{A \in E_d, A \text{ finite}\}$, and note that for any bounded function f on F_d , (1.1) defines a function $\mathscr{L}^{(d,\alpha)}f$ on F_d such that $|\mathscr{L}^{(d,\alpha)}f(A)| \leq 2|A|||f||_{\infty}(1+2\alpha d)$. A function ϕ on F_d is said to be increasing if $A \subset B$ implies that $\phi(A) \leq \phi(B)$. Let H be the mapping from functions on F_1 to functions on F_d defined by $H\phi(A) = \phi(\pi_d(A))$. Note that H maps bounded functions to bounded functions, and that $|\phi(A)| \leq \text{constant} |A|$ implies $|H\phi(A)| \leq \text{constant} |A|$, since $|\pi_d(A)| \leq |A|$. The proof of the following lemma is a straightforward computation, which is left to the reader.

Lemma 3.6. Let ψ be a bounded increasing function on F_1 . Then for all $A \in F_d$,

$$\mathcal{L}^{(d,\alpha)}H\psi(A) \geq H\mathcal{L}^{(1,\alpha d)}\psi(A)$$
.

Let $T_t^{(d,\alpha)}$ be the semigroup on $C(E_d)$ corresponding to the linear contact process. Note that $T_t^{(d,\alpha)}$ extends naturally to functions on F_d which satisfy $|\psi(A)| \leq \mathrm{const}\,(1+|A|)$, since $E_A^{(d,\alpha)}|A(t)| < \infty$ for $A \in F_d$.

LEMMA 3.7. Let ψ be a bounded increasing function on F_1 . Then $T_t^{(d,\alpha)}H\psi \geq HT_t^{(1,\alpha d)}\psi$ on F_d .

PROOF. This follows immediately from Lemma 3.6 and

$$(3.8) T_t^{(d,\alpha)}H\psi - HT_t^{(1,\alpha d)}\psi = \int_0^t T_{t-s}^{(d,\alpha)} (\mathscr{L}^{(d,\alpha)}H - H\mathscr{L}^{(1,\alpha d)}) T_s^{(1,\alpha d)}\psi \, ds$$

on F_d , since $T_s^{(1,\alpha d)}$ maps bounded increasing functions into bounded increasing functions ([1]) and $T_{t-s}^{(d,\alpha)}$ maps nonnegative functions into nonnegative functions. Observe that the derivative with respect to s of $T_{t-s}^{(d,\alpha)}HT_s^{(1,\alpha d)}\psi(A)$ is $-T_{t-s}^{(d,\alpha)}(\mathscr{L}^{(d,\alpha)}H-H\mathscr{L}^{(1,\alpha d)})T_s^{(1,\alpha d)}\psi(A)$, so that (3.8) is obtained by integration. In justifying the differentiation, $E_A^{(d,\alpha)}|A(t)|<\infty$ for $A\in F_d$ is used.

To complete the proof of (3.5), apply Lemma 3.7 to the monotone function $\phi(\eta) = 1 - \chi_B(\eta)$ and let $B \uparrow Z$ to obtain

$$P_{\scriptscriptstyle \{0\}}^{\scriptscriptstyle (d,\alpha)}\{A(t)=\varnothing\} \leq P_{\scriptscriptstyle \{0\}}^{\scriptscriptstyle (1,\alpha d)}\{A(t)=\varnothing\}$$

for all $t \ge 0$. Now use the fact that \emptyset is absorbing for the contact process.

REMARK. If α_d is as in the introduction, then Lemma 3.7 shows that $d\alpha_d \leq \alpha_1$. The proof can be easily modified to show that $mn\alpha_{mn} \leq m\alpha_m$ for all positive integers m and n. Using this, together with the easily obtained fact that α_d is nonincreasing in d, it is not hard to show that $\lim_{d\to\infty} d\alpha_d$ exists. It would be

interesting to know the value of this limit. Our results show that it is between $\frac{1}{2}$ and 2.

REFERENCES

- [1] HARRIS, T. E. (1974). Contact interactions on a lattice. Ann. Probability 2 969-988.
- [2] HARRIS, T. E. (1976). On a class of set-valued Markov processes. Ann. Probability 4 175-194.
- [3] HARRIS, T. E. (1978). Additive set-valued Markov processes and graphical methods. *Ann. Probability* 6. To appear.
- [4] HOLLEY, R. and LIGGETT, T. (1975). Ergodic theorems for weakly interacting systems and the voter model. *Ann. Probability* 3 643-663.
- [5] HOLLEY, R. and STROOCK, D. (1978). Dual processes and their applications to infinite interacting systems. Advances in Math. To appear.
- [6] Liggett, T. M. (1977). The stochastic evolution of infinite systems of interacting particles. Springer Lecture Notes in Mathematics 598 187-248.
- [7] Spitzer, F. (1977). Stochastic time evolution of one dimensional infinite particle systems. Bull. Amer. Math. Soc. 83 880-890.

DEPARTMENT OF MATHEMATICS UNIVERSITY OF COLORADO BOULDER, COLORADO 80302

DEPARTMENT OF MATHEMATICS
UNIVERSITY OF CALIFORNIA, LOS ANGELES
LOS ANGELES, CALIFORNIA 90024